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Match #8


These questions are for use in the Virginia High School League’s Scholastic Bowl State Tournament. Shawn Pickrell, Jason Mueller, and Dan Goff are the authors of these questions; further editing was done by Adam Fine and Marian Suter.

Participants must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a)
Public discussion of these questions before the end of the state tournament is prohibited. 

(b)
Releasing these questions to entities outside Virginia is prohibited. 

First period: 15 tossups, 10 points each
1.
His novel The Naïve and Sentimental Lover was more autobiographical, as most of his novels are based on his 1960s experience within MI5. Another novel, The Constant Gardner, was set after the Cold War. Who created the character of George Smiley in novels including The Honourable Schoolboy and The Spy Who Came in from the Cold?
ANSWER: John le Carré
2.
A type of broken chord, the Bell effect is one of these played by several instruments simultaneously. A chord in which the notes are played in sequence, rather than simultaneously, has what name, taken from the Italian for ‘in the manner of a harp’? 

ANSWER: arpeggio
3.
A linear transformation in homogeneous space, they are a subgroup of the Poincare group and can be regarded as a rotation of Minkowski space.  A form of them was published by Joseph Larmor in 1897.  They result in length contraction and time dilation.  Name this set of equations named after a Dutch physicist that transform space and time in relativity theory.

ANSWER: Lorentz transformation equations

4.
After being ostracized from Athens in 470 BC, he became a Persian satrap. He himself had ostracized Aristides and started efforts to build a strong navy. Who commanded the Athenian fleet that defeated Xerxes in 480 BC at the Battle of Salamis? 

ANSWER: Themistocles 

5.
This book references a real-life street singer, La Perichole. In it, the question, ‘Why did these five people die?’ drives Father Juniper to investigate. What Thornton Wilder novel begins, ‘On July 20, 1714, the finest bridge in all Peru collapsed’? 
ANSWER: The Bridge of San Luis Rey
6.
Hot Springs is the largest city in this mountain range that is located in eastern Oklahoma and west-central Arkansas. What mountain range forms the U.S. Interior Highlands along with the Ozark Mountains?

ANSWER: Ouachita (wah-SHEE-tuh) Mountains

7.
The singer refers to this song's subject as a ‘5 foot 7 guy who's just [her] type,’ it features an appearance by Kanye West.  The singer states that she wants to go to New York, would ‘love to see LA,’ and wants to ‘come kick it with’ what titular character, the subject of the second single from the album Shine, performed by Estelle?

ANSWER: ‘American Boy’
8.
An ‘active’ one of these computer components has a fan blowing air through it. They contain a number of ridges and protrusions to increase surface area and hence increase the dissipation of thermal energy. What are these items that keep CPUs cool? 

ANSWER: heat sink
9.
 She was the star of the radio show My Favorite Husband. In testimony before HUAC, her husband said, ‘the only thing red about her is her hair.’ What wife of Desi Arnaz played Ricky Ricardo’s husband on a legendary 1950s television show? 
ANSWER: Lucille Ball
10.
A feature of this language is ‘formative letters,’ single-letter prefixes that serve as definite articles, common prepositions, and verb conjugations. It is the only language in history to go from being extinct to being the first language of seven million people. What Semitic language is spoken in Israel? 

ANSWER: Hebrew
11.
Caused by bacteria, vulnerability to it is detected by the Schick test.  There have been only five reported cases of it in the United States since 2000.  The Iditarod commemorates the delivery of a serum to Nome to fight this disease.  Name this upper respiratory tract illness that is the D in the DPT vaccine.

ANSWER: diphtheria
12.
In 1244, he escaped from his family’s captivity to become a Dominican friar and teacher. Also known as the Doctor Angelicus, what pre-eminent Scholastic philosopher wrote the Summa Contra Gentiles and the Summa Theologica? 
ANSWER: Thomas Aquinas
13.
THIS IS A 30-SECOND COMPUTATION QUESTION.  What is the value of four factorial plus seven factorial plus three factorial?

ANSWER: 5070
14.
An artist uses this six-letter word to describe a sculpture of raised figures from a flat background. Another meaning refers to forgiving debt, to ending a siege, or to something that ends pain. What word often goes after ‘comic’? 
ANSWER: relief
15.
It was first calculated in 1950 by Keizai Shimbun, a major newspaper. Its all-time high was in 1989, when it nearly hit 39,000. 225 companies including Yamaha and Honda are on what main stock index of Japan? 

ANSWER: Nikkei 225

Second period, 10 directed questions per team, 10 points each
Set A questions have an ‘A’ after their number; set B questions have a ‘B.’ 

1A.
A SportsCenter commercial showed this driver getting towed after some name-based confusion with an ESPN personality.  This happened prior to a win in the Indy Japan 300, the first win in the Indy Racing League for what driver? 
ANSWER: Danica Patrick (In the commercial, Danica was towed after parking in Dan Patrick's parking spot.)

1B.
Name the disease also known as onchocerciasis (awn-KOH-ser-see-ah-siss) that often destroys tissue in the eyes.

ANSWER: river blindness 

2A.
This is the common constituent of oceanic crust, and it's fine-grained texture results from rapid cooling of lava at the Earth's surface. What rock is the main component of structures like the Giant's Causeway and Devil's Tower? 

ANSWER: basalt
2B.
What five-letter word can mean either ‘complete,’ as with a break, but most often means free of dirt and grime? 

ANSWER: clean
3A.
Northampton County is one of the two counties on Virginia’s Eastern Shore. What is the other? 

ANSWER: Accomack County

3B.
What former Senate leader paid back over $140,000 of back taxes before being nominated as Secretary of Health and Human Services? 

ANSWER: Thomas (Tom) Daschle
4A.
What Civil War epic poem by Stephen Vincent Benet won the Pulitzer Prize for Poetry in 1929? 

ANSWER: John Brown’s Body
4B.
What executive order, issued by Andrew Jackson in 1836, required government land to be paid for in gold or silver currency?  

ANSWER: Specie Circular
5A.
THIS IS A 10-SECOND COMPUTATION QUESTION.  Solve for y.  What is the value of y when y equals the base 4 logarithm of 256?  

ANSWER: 4
5B.
THIS IS A 20-SECOND COMPUTATION QUESTION.  What is the value of four cubed minus three squared plus five squared?

ANSWER: 80
6A.
What grammatical error occurs when two independent clauses are joined by a comma, but no coordinating conjunction? 

ANSWER: comma splice
6B.
What method of teaching reading is opposed to ‘whole language,’ and involves teaching students to associate letters or letter groups with different sounds? 
ANSWER: phonics
7A.
The Swedish king Charles XII embroiled his nation in what war that lasted between 1700 and 1721 and marked the end of Sweden’s great power status? 

ANSWER: Great Northern War

7B.
What jackal-headed god of Egyptian myth oversaw mummification and helped the newly-deceased reach the afterlife? 

ANSWER: Anubis
8A.
According to Scientology, death occurs when what soul-like entity, described as ‘the source of life,’ abandons the human body and goes to Venus?  

ANSWER: thetan(s)

8B.
The only woman to win a solo Nobel Prize for medicine is what woman that discovered genetic transposition while studying the DNA of corn? 

ANSWER: Barbara McClintock
9A.
How many valence electrons does an atom of phosphorus have?

ANSWER: five
9B.
Who is the 59-year-old, an inmate of Dr. John Seward, that assists Count Dracula when he is not eating birds? 
ANSWER: R.M. Renfield
10A.
THIS IS A 30-SECOND COMPUTATION QUESTION.  What is the remainder when 23,962 is divided by 17?

ANSWER: nine
10B.
THIS IS A 30-SECOND COMPUTATION QUESTION.  An angle of 60 degrees is inscribed in a circle. If the area of the circle is 256pi square meters, how long is the chord contained within that angle? 

ANSWER: 16 / 3 pi meters

Third period, 15 toss-ups, 10 points each

1.
He told his prisoner, ‘If you want a picture of the future, imagine a boot stomping on a human face, forever.’ He gave his prisoner a copy of Goldstein’s book, but turned out to be entirely loyal to the Inner Party and Big Brother. What character betrayed Winston Smith in 1984? 
ANSWER: O’Brien
2.
An ‘eight-ender’ in this sport is a great achievement. Players on a team are the lead, second, third, and skip. What is this winter sport, notable for its 40-pound rocks and its players pushing brooms over the ice? 
ANSWER: curling
3.
This law was first observed by its British namesake in 1801. High pressure causes it to become unreliable, as intermolecular forces begin to affect its predicted results. Thus, like most laws of its type, it only really works with ideal gases. What law states that the total pressure of a mixture of gases is the sum of the pressures that each gas would exert by itself?

ANSWER: Dalton’s law of partial pressures (accept either by itself)
4.
The Quebec Act wasn’t one of them, but American colonists thought so anyway. Two of them were the Administration of Justice and Quartering. What laws were passed by Parliament in 1774 in the wake of the Boston Tea Party? 

ANSWER: Intolerable or Coercive Acts

5.
He won the battle of Chimborazo over his half-brother Huascar. Others claimed the title of Sapa after his death, but he was the last sovereign. Despite filling a room twenty by sixteen by eight foot room with gold and silver, he was killed by Francisco Pizarro’s men. Who was the last emperor of the Incas?  

ANSWER: Atahualpa
6.
Its author said, ‘I aimed at the public’s heart, and by accident I hit it in the stomach.’ Its protagonist is the Lithuanian immigrant Jurgis Rudkus. The Pure Food and Drug Act of 1906 was passed in response to what novel by Upton Sinclair? 

ANSWER: The Jungle
7.
This family’s Tonton Macoutes brutally repressed dissent. They ruled between 1957 and 1986. François and Jean-Claude, better known as ‘Papa Doc’ and ‘Baby Doc,’ were what father-and-son dictators of Haiti? 
ANSWER: Duvalier family

8.
The Little Ice Age was thought to be caused by a lack of these, during a period known as the Maunder Minimum.  What are these features that fluctuate in an 11-year cycle, cold dark regions of the photosphere caused by fluctuations in the magnetic field on the surface of the sun?

ANSWER: sunspot
9.
Better known as an artist, his novels included John Ermine of the Yellowstone. In 1908, he burned dozens of his paintings and stopped making illustrations. Who created the sculpture Bronco Buster and made illustrations of combat scenes from the Spanish-American War for the New York Journal? 
ANSWER: Frederic Remington
10.
High levels of it can be caused by Crigler-Najjar syndrome, Dubin-Johnson syndrome, bile duct obstruction, or severe hepatitis.  Name this product of heme catabolism that is excreted in bile and is responsible for the brownness of stool and the yellowness of urine, bruises, and jaundice.

ANSWER: bilirubin
11.
His last years in Nebraska were recounted in The Prairie. He grew up in New York State, where his first adventures were told in The Deerslayer. Who is this James Fenimore Cooper character that also appears in The Last of the Mohicans? 
ANSWER: Natty Bumppo or Hawkeye or Leatherstocking
12.
He ordered the murder of Paul Castellano but was finally convicted when his underboss Sammy ‘The Bull’ Gravano testified against him. His daughter Victoria had a short-lived reality show on A&E. What Gambino crime boss was known as the ‘Dapper’ or ‘Teflon’ Don? 
ANSWER: John Gotti
13.
This type of operator is used to analyze solutions to boundary value problems and its class operator is a nuclear operator on a Hilbert space.  This term’s main definition is similarity-invariant, a linear map, commutative, and is defined only for a square matrix.  Name this term for the sum of the elements of the main diagonal of a square matrix.

ANSWER: trace
14.
The Roman one has thirty-three buttons to symbolize Christ’s 33 years on Earth. Anglican bishops often wear purple ones, although they are usually black. What is the ankle-length robe worn by Catholic, Anglican, and Orthodox clerics?

ANSWER: cassock(s)

15.
Traverse City, Michigan, claims to be the world capital of them.  Sweet ones are often grown in California and Washington.  Types of this fleshy fruit include the Saint Lucie, Japanese, Pin, Rainier, and Bing.  Name this fruit whose tree is mistakenly associated with being chopped down by George Washington.

ANSWER: cherry
Spare questions 

Be sure to mark off questions as they are used. Replace, when possible, a discarded question with a spare in that area (i.e. science for science, English for English, etc.) 

1.
This U.S. commander was supposed to administrator the 1950 plebiscite to determine Jammu and Kashmir’s fate. He secured a relatively light prison sentence for German naval commander Karl Doenitz at the Nuremburg trials, pointing out that he too had used unrestricted submarine warfare. He signed, on behalf of the United States, the Japanese articles of surrender to end World War II. Who was this Commander-in-Chief of the United States Pacific Fleet? 

ANSWER: Chester Nimitz
2.
THIS IS A 10-SECOND COMPUTATION QUESTION.  What is the area of a square with a diagonal of length 15 times square root of 2 feet?

ANSWER: 225 square feet
3.
This group of elements takes its name from the Greek word for ray, since they are all radioactive. Only two of them occur with any frequency in the earth’s crust; indeed, two-thirds of them are synthetic. Its members include nobelium, curium, and uranium. What group of elements occupies spaces 89 through 103 on the periodic table, and is located below the lanthanides? 


ANSWER: actinide(s) or actinoid(s)
4.
He hosted a namesake radio show on WFMT for 45 years, played newspaper reporter Hugh Fullerton in the movie Eight Men Out, and wrote nonfiction works such as Will the Circle Be Unbroken, Chicago, and Working, winning the Pulitzer Prize for nonfiction in 1985. Who is this author, known for his prolific oral histories, who passed away on October 31, 2008?

ANSWER: Louis "Studs" Terkel
5.
Before the events of this poem, Jeanie ‘should have been a bride / But who for joys brides hope to have / Fell sick and died.’ The cause of Jeanie’s death was consuming the wares sold at the title location. This doesn’t dissuade one of the protagonists, who then exchanges of a lock of golden hair for some fruit. The other protagonist had to buy some more fruit to save the other’s life. The sisters Lizzie and Laura are the protagonists of what poem by Christina Rossetti? 
ANSWER: Goblin-Market
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